Total Worker Compensation and
Productivity since 1973

100%
difference
between
80% payroll survey factors 39%
and NIPA all- 459 explaining
— employee the productivity
) compensation -wage gap*
= 60%
e 12%
4% %
O)
Q other
o> 40%
(O
)
S average hourly wage
© 20% adjusted with CPI
D +10%
Q. ®
O% re=
*gap between payroll-based compensation growth
- _20% and productivity growth in nonfarm business sector
1973 1983 1993 2003 2013
W/ MERCATUS CENTER Source: James Sherk, "Worker’s Compensation: Growing
‘M\ e — along with Productivity," Heritage Foundation, forthcoming.
George Mason University Produced by Veronigue de Rugy and Rizgi Rachmat, April 2016.



